Group Work for 18IJ-Single Poppers 			Name					

Find the readings on the meters:
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V1 = 		

V2 = 		

Current through 7 Ω = 		
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A2 = 		

V1 = 		

V2 = 		

V3 = 		

V4 = 		

Current through 14 Ω = 		 

Current through 17 Ω = 		
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A1 = 		

A2 = 		

A3 = 		

A4 = 		

V1 = 		

V2 = 		

V3 = 		






 (
52.0 V
4
 
6 
 
7  
2  
11  
8
  
17 
3 
5 
V
1
V
2
A
2
A
3
V
3
A
1
)4 
[image: ]A1 = 		

A2 = 		

A3 = 		

V1 = 		

V2 = 		

V3 = 		

Current through the 3 Ω		

Voltage across the 3 Ω		

Voltage across the 7 Ω		

Current through the 8 Ω		

Voltage across the 11 Ω		
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